
Assembly instruction
Part Number: 
Description: Revision date: 2025-04-14

RR570023201
Roof bar kit Caddy 20-/Connect 24- with rails, 2 bars

3

6

4

M6

M6x40

5

20Nm

2

1

M8

M8x16

4x 65002 4x 64549 4x 27200-03 8x M8
8x M6

8x M8x16 2x8x M6x40

12Nm
Max

.

i

Max.


